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Numbers on an ABACUS 

An abacus has rods that represent the place of  

Digit in a given number. The rods are named 

O , T and H from right to left . 

O stand for Ones place . 

T stand for Tens place . 

H stand for Hundred place . 

Example  :- See the abacus shown here .It has 

                      4 beads in the T rod 

                     2 beads in the O rod 

So , the number shown by the abacus is 4 2 



        

See example carefully and solve these :- 

1. Write the number shown by each abacus.  

2.  Show      these numbers on the abacus . 

                   ******* 


